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COMMERCE
Course ID : 11219 Course Code : BCOMP-102C-2A
Course Title: Indian Economic Problems
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five of the following questions: 2x5=10

N T @ A AT Ted nie g

(a) Which activities belong to tertiary sector?

@ @ TG gol V@ ALERSF (Fad M TS 2

(b) Define poverty.
wifscas kel wis |

(c) Mention two causes of low productivity of agriculture.

OISR R T CeAMTRRTOR gt F S T |

(d) Write the full form of NABARD.
NABARD-93 (@7l (<1040 |

(e) What do you mean by industrial sickness?

g w2l e F @R ?

(f) Mention two features of import substitution policy of India.

SreARe wrmif sifiasel Tifex uft @R Sme @i

(g) What is disguised unemployment?
BHTH (TG FICF A0 2

(h) What do you mean plan holiday?
AR SR A0S (I 2
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2. Answer any four of the following questions: 5%4=20

N T @@ 5T A Ted wie ¢

(a) What is national income? Comment on the limitations of estimates of NI in India. 1+4=5
GRS FIE A2 SO GoRl W ARWCAT Foefl 7id oo e |

(b) Mention major objectives of Land Reform Policy. Give two arguments in favour of and
two arguments against Land Reform in India. 1+4=5
O FAHIER SoicEt S S| gl AHER #IeF ¢ [eAew qib T ToiTe wie |

(c) Name two public sector enterprises in India. Briefly explain the present problems of public

sector in India. 1+4=5

7fs TR T TN IR | AIF Somiel e TGN AR FRewee e Tt

(d) What do you mean by globalization? Discuss the impact of globalization on Indian

economy. 1+4=5

R oI I @IEN? oo wdifere MREe Feirel FCEHReel SEIhl 6 |

(e) What is planning? What are the main objectives of planning in India? 1+4=5

JAfFFET FE @2 SRS ARTENRT AU SorrslE J Fre

(f) Discuss various measures adopted by the government of India to eradicate the poverty.

vifsw gRIeaCE e e f[fen el ada s

3. Answer any one of the following question: 10x1=10

AT @ @I GF0 A8 TR W ¢

(a) What do you mean by ‘Green Revolution’? Discuss the merits and demerits of Green

revolution in India. 2+8=10

e {2 Fe0e F @I ? e [ReEd Joe 8 Foasfs adq FEi |

(b) What is central bank? Describe the main functions of central bank. 2+8=10

@R TF FE @12 (AR JE G 2 IR 39671 e |



